
 

 

 

 

 

                              ���� 

 

       ��������	
��
�� 

  ������������������ ! 

 

 

 

                          �� �� � � � �� �	

 

 

 

 

 

 

                         ����   �����	 

                                         
��
��	 

                                                    ������ 

 

 

                                          ���  ���� 

 

 

 

�  



 2

�� 

���� ��� ��	
________________________________________________ 2 

���� �
__________________________________________________________ 3 

2.1����������	�
�� _________________________________________ 3 

2.2�
�������_____________________________________________________ 5 

2.3����_______________________________________________________________ 9 

2.4����______________________________________________________________10 

2.5��������� ! ________________________________________________10 

���� ��_________________________________________________________ 14 

3.1�
�������____________________________________________________14 

3.2���"#$%&����� ____________________________________________16 

3.3���"#'(&����� ____________________________________________17 

���� ���_______________________________________________________ 21 

)* _____________________________________________________________________22 

+,-. _________________________________________________________________23 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 2

���� ��� ���� 

 

 

�������	
��
�����������	���������	��� 

!"���	�#��$�%&'()*+,-*./��0121�34567���

89	�:;<���=��>�89?-	*:�
���������@345A>

A>��1%&'��>�0?�%&'B*�C���=DE>�FG-*:HHI:�

� !"�JK�'FLMN/��0 

�<H5I��������OP�Q$ CMOS RS��@�C���'TU$VW

� !"'XY$)�Z�[\2]�^<_�]N/��0?� CMOS RS��$�J

� !"�=`a>�bc-1/�!d!e=Jf>��ghTi=JKMj�-�.

8bc'klMN/��0 

A8�mnoRS��	
�/@pqrpstu�vuwx	��� !"'XY$

)*�yz()*5�-*./��0??$�pqrpst@{|i}-�#?-2]�

~kl$@��6gh=_�/�����=���p�>�?-	�:�pqrpu�

� !"=JK>��c	H�/��=�#0 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 3

 

����  ! 

 

~kl$@()*�r��'pqrp��
	��N/��mno��=��

1���pqrpu$�� !"JK�c=��>�0`�����������

���=�-1/�?�4$����"���� ���[6¡JKbc�?�J

Kbc=`a>��	¢?�+,£���¤¥¦���=�#0 

 

 

2.1����������	�
���

�������"���� ��@§¨��#	�����	�"st ©ª«¬-

1/­®¯°©±�²³� ´ª«¬µ´¶·¸ª¹«¬=�º���-)	��	»N�!»= ¼ª«¬

->�-���!» ¼ª«¬�`½¾ ¼
�
@�

� � -*��$�?N�:�"���� ��¿@�

-*�0�

�

??$���ÀÁÂÃ��$I� ÄÅÆ¼ÇÈ =_�/�É���	
��!» ¼ª«¬�

`½¾ ¼
�
=5-9���`½¾ ¼

�
2]5-98É�"���� ��=ÊqrË1

85�'§Ì-*�0�

� �

Ie
  =

2Z

V
A        (2.1)

Z = 

2  Ie

V
�

 

            (2.2)
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2.2��������	
��
�����

 

�������"Ò�Ti=Þ-1�vuwx=ß->�-à����"��@§

á	*�0 

� à����âã�':äå=§æ��#	��->�-�à���	ç>�vuw

x$�� !"@èf��#	æH�éê	��/L9]N�0

� � ë¨ì� }í�í�� 

� ëÌì� ��       íîí T/2 

� ëáì� T/2 íîí T/2ï�� 

� ëæì� T/2ï��             íîí ð 

??$�ë¨ì-ëáì�éê�!eñ��Í)@ 

->�0A8��NòN�!»¾@óÊó�ñô=_�/õö1�!" P(t)@ P=RI2 
�

�����Q@!" p(t)=äå$�÷1/L9�0ø�����ùn!e V0@ 

$5-9]N�0 

 

 

 

 

 

 

V0 = 
C

1 �

0

 i(t) d t               (2.4) 

A = 
� t

E
          (2.3)
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ë¨ì�� � ?�éê$@�!e V(t)@ V(t) = At$I�0A8�ø�����ùn!e        �

@}$I�0 

� � � � !» i(t)@�  

!" p(t)@ 

� � � � � � MN������Q@ 

� � � � � -*�0??$�ú@ 

� � � � � ->�0 

� � � � � �  

ëÌì� ?�éê$@�!d!e V(t)@ V(t) = E$�û�¾=-�0A8�ø���� � � �

� � � � � ���ùn!e V0@ 

� � � � -*�0?N]�¾�:!» i(t)@� �  

� � � � � !" p(t)@ 

� � � � � MN������Q@� � � � � � � � � � � � � � � � � � � �  

� � � � � -*�0 

 

 

 

 

R
E C

� t

2

= B  (2.8)

i ( t ) = 
E C

� t
1 - exp - 

R C

t
  (2.5)

p ( t ) =  B 1 - 2exp - 
R C

t
 + exp - 

R C

2t
     (2.6)

Q  = B � t - 2 R C 1 - exp - 
R C

� t
 + 

R C

2
1 - exp - 

2 � t

R C
(2.7)

p ( t )  =  B 1 - exp - 
R C

� t
2

exp - 
R C

2
 t - � t (2.11)

V0  = E - 
 R C

� t
E 1 - exp - 

R C

� t
(2.9)

i
 
(t) = 

E C

� t
1 - exp - 

R C

t
exp - 

R C

1
t - � t  (2.10)

Q = 
R C

2
B 1 - exp - 

R C

� t
2

1 - exp - 
R C

1
  T - 2 � t (2.12)
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����� � ����	
��
�� V(t) = -At 	������������� V0
�  

� � � � � ������������� i(t)
 

� � � � �  

� � � � � � p(t)
� � � � � � � � � � � �  

� �  

� � � !"#��$%&'(Q
 

� � � ���� 

�)��� � ����	
�
�� V(t) = *	���+,����������� V0
 

� � � � � ������������� i(t)
 

� � � � � � p(t)
 

� � � � � !"#��$%&'(Q
 

� � � � � ���� 

V0  = E  - 
 R C

� t
E 1 - exp - 

R C

� t
exp - 

2 R C

1
 T - 2 � t (2.13)

i ( t ) = 
E C

� t
 1 - exp - 

R C

� t
 exp - 

2 R C

1
 T - 2 � t  + 1 exp - 

2 R C

1
 2 t -  T -  

E C

� t
   (2.14)

p ( t ) = B

- 2 

1 - exp - 
R C

� t
 exp - 

2 R C

1
 T  - 2 � t  + 1

B 1 - exp - 
R C

� t
 exp - 

2 R C

1
T  -  2 � t  + 1

2

exp

exp

- 
R C

1
  2 t  -  T

- 
2 R C

1
2 t -  T  + B     

(2.15)

Q = 
R C

2

-2 RC B

B
 

1 - exp - 
R C

� t
 exp - 

2 R C

1
T  -  � t

 

1 - exp - 
R C

� t
 exp - 

2 R C

1
T  -  � t

 

2

1 - exp - 
2 � t

R C

1 - exp - 
R C

� t
+ B � t (2.16)

V0 = 
R C

� t
E 1 - exp - 

R C

� t
1 - exp - 

2 R C

T
      (2.17)

i ( t 
) = - 

C E

� t
1 - exp - 

R C

� t
1 - exp - 

2 R C

T
exp - 

2 R C

1
2 t  -  T  -  2 � t (2.18)

p ( t ) = B 1 - exp - 
R C

� t
2 
1 - exp - 

2 R C

T 2

exp - 
R C

1
2 t  -  T  -  2 � t (2.19)

Q
 

=
 

R C

2
B 1 - exp - 

R C

� t 2 
1 - exp - 

2 R C

T 2

 1 - exp - 
R C

1
T  -  2 � t (2.20)
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����������	
��
���Q ��������������	
���


���Qa l l��  

� � � �  

��� !!��"#$%�&�����'(������
����)*+,-���

Qall�.��  

�/��� 

 

����01��2(3�

 

� ���  

 

 

 

 

 

 

 

 

 

Q
a l l
= B 2 � t -  4 R C 1 - exp - 

R C

� t
 + R C 

1 - exp - 
2 � t

R C
 + R C

 
1 - exp - 

R C

� t
 

- 
R C

2
B 1 - exp - 

R C

� t
2

2 exp - 
2 R C

1
T  -  2 � t  + exp - 

R C

1
T  -  2 � t  

-
 

R C

2
 B 1 - exp - 

R C

� t
2

- 2exp - 
2 R C

1
3 T  -  4 � t  + exp - 

R C

1
2 T  -  � t  (2.21)

x = 
R C

�  t
(2.22)

Q a l l =
 

2 C E2

x
1 -  2

1 - exp( - x )

x
 + 

1 - exp( -  2 x )

2 x

+ C E2 
1 -  exp( - x )

x

2

 1 - exp - 
2 R C

T
 + x  - 

1

2
exp - 

R C

T
 +  2 x

+ C E2 
1 -  exp( - x )

x

2

exp - 
2 R C

3 T
 +  2 x  - 

1

2
exp - 

R C

2 T
 +   x   (2.23)

1 - exp(- 1)

x
�  

1

x
    (2.24)
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2.3���� 

��������	�
��
��������������
������

���� !�"���#$
 %��&'(�)*+�,-�./0�1�2

3'���+��
������)*45�6����7/7 5�8�6 

9  

���!:�;<=>?�1@!:�;ABCDE�,�>?�1�6��/��

)*� !FGHI�J %K�LM;!
�/NO)*�+�
P;7 6(a)�

QR�ABCDEST
��UVO-/-"OE/W�T"�6XY!
�/Z

O)*�+�
P;7 6(b)�QR�
�STABCDE�UVO-/-"!AB

CDE�[O�/A[4"��
�8�6\X@!ABCDE

��]�^_

`a��bc��`/de"��
�8�6�"T�fg�hi4"�^_`a

�;!ABCDE�,�>?
<=>?�j\�>?�Qk%l
 %hi4"

�mn8^_`a�.op�1���!Oq;��hi4"Ymn8^_`a�

.op�rN+"sQK�
�8�6�"�Q@!���hi4"�^_`a�

/t4u8@!hiO��vwx�7��
/�P�
y�T"�6 
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2.4��������� 

 

9 z`{<=�;z`{�>?|/ 2.7µ[Ωcm]�1@!S8@vK>?|�1�6

�"Q@!}.�~K<=�y�%<=>?���g�
��kY6XY!<=


��� %;��������	�
�
�������4"���!���<

=
��M�
�!�����������	�
��M�
�
+�
!���

���M�
��; 

   9 9 9 9 9 9 ������� 


8@!��M�
���� %ABCDE/��T"��

8�6 

 

 

 

 

2.5�	
��
����� 

 

� ��������#$�23'
+��
����;!23';�`�'��

�%O���x/��S�1���!��.��	� nMOS 
 pMOS ��U
�

/ on �HI���-"���O-��/�Pu8k% XR
KR���/1�6

������ %;���� ¡¢£¤+��
�¥¦4"�6�";!nMOS 


pMOS ��� Vtn
 Vtp�§���¨u©F+��
���O-�wT+�
/�

P�6��ª«�¬­�®+6 

9 9 9 9 9 9 9 9 9  



 11

 

 

9 ���������¯C�7 8�QR�°\�±²�.p%y�� 

³9́   9 nMOS 9 µ¶±²9 9  pMOS9 =�±² 

³9·9 9 nMOS   ¸¹±²9 9  pMOS9 =�±² 

³9�9 9 nMOS   ¸¹±² 9   pMOS9 ¸¹±² 

³9º9 9 nMOS   =�±²9  9 pMOS9 ¸¹±² 

³9»9 9 nMOS   =�±²9    pMOS9 µ¶±² 

 

���!µ¶±²!=�±²!¸¹±²� D-S ]�-"�O- Ids ;¼�QR�½49 9

"�6 

9 9 µ¶±²¡Vg s ¾ Vt¤�; D-S]�;O-;-"8K6 

 

9 9 =�±²¡0 < Vds < Vgs – Vt¤�;9  

9 9 ¸¹±²¡0 < Vgs – Vt < Vds¤�;9 9  

���!¿; 

�½4"!µ; nMOS �;OÀ!pMOS �;2Á�Â)�!Ã;Ä�ÅÆxÇ�AO

|!tox� ;Ä�ÅÆxÇ�È4!É;ÊË_`Ì!�;ÊË_`~�1�6�"TS

T!AÍE�±²�-"���O-�\K%ÎÏ�dR6 

´±²Ð9 ��±²�;!��O�; 0¾Vin¾Vtn.�ÑÒ�1@! 

9 9 9 9 9 nMOS/µ¶±²�YÓ��O-;-"8K9 9 9 9 9  

·±²Ð9 ��±²�;!��O�;9 Vtn¾VinÔVinv�ÑÒ�1@! 

9 9 9 9 9 nMOS/¸¹±²�1���!D-S]� 

9 9 9 9 9 �O-/-"��
�8�6pMOS�U;=�±²�1@!D-S]� 

�O-/-"�6ÕÖ��±²�-"�O-;×Ø¡ÙÚÛÜ¤8��!

Idsn.��O-/-"��
�8�6 

Id s n = 

� n

2
V i n  -  V t n (2.28)

I d s p = - � p V i n  -  V D D  -  V t p  V o u t  -  V D D   -  
V o u t  -  V D D 

2

2

(2.29)

I d s  =  �  V g s  -  V t   V d s  - 
V d s 

2

2
(2.25)

I d s = 

�

2
V g s  -  V t (2.26)

� = 
�  �

t o x 

W

L
(2.27)
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����� �����	
��
�	� Vi n= Vi n v� ���
��������� 

 
�����������Vi n v� 	��
�����nMOS
pMOS 

           !�������
nMOS� D-S"�	 

    � � � pMOS� D-S"�	 

� � � � � �
��������
��#	$%&'()
Idsn = - Idsp��� Vin�� � �

� � � � � #�*+�� 

� � � � � � � ,�
-n =-p�
nMOS � pMOS �.#�/0#�123�4
Vinv
�

	     

             2.5VDD����567
����������
�	 

� � � � � � � ����� �  

8���� �����	
��
�	� Vinv9Vin:VDD + Vtp�;<���
nMOS� � � � �

� � � � � 	=>�������
D-S"� 

� � � � � �
������+?
pMOS	 !����� 

� � � � � � � �
������$%&'5�
Idsn���
������������ � � � �

@���� �����	
��
�	� Vtp:Vin:VDD�;<���
nMOS 	=>  

� � � � � ������
pMOS�AB���?C���
�	���3� 

 ��)5�
��
�������	DE8�������.#�/0#F�4

GH��
��
�����3I�@����J��
+?K�L�����

nMOS 
pMOS� D-S"����
�#�MNG��+H� 

 

 

I
 

d
 
s
 
n = 

� n

2
V i n  -  V t n

2

(2.30)

I
 

d
 
s
 
n
 
 =  � n V i n  -  V t n  V o u t  -  

V o u t 

2

2

(2.34)

I
 

d
 
s
 
p
 
 = - 

� p

2
V i n   -  V D D   -  V t p 

2 (2.35)

I
 

d
 
s
 
p  =  - 

� p

2
V i n  -  V D D  -  V t p

2

(2.31)

V i n = 

V D D  +  V t p  +  V t n 

� n

� p

1 + 

� n

� p

 (2.32)

I
 

d
 
s
 
n 
 
= 

� n

2
V i n v  -  V t n

2 (2.33)
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� ��������	
��Vt�
��� 

� � B����  

 

C���� � � � � � �  

D��� 

� �  

� �������������������
����� �!"#$�%�
��&

�'��()���*�+�������,-./0123/4567��&8 9 �*

�+�9�:9;<���)���������
����!"#$&%=6.(��

�&<��+6�6���>?�@(��ABCDEFG�H	&IJK9�+ 

� � ���� ����	
��
������������	����� � � �

� � � � � � ����	
��������	����

 

� n

2
V i n  -  V t n

2

 > 

 

 

� n

2
V i n  -  V t h   +  � V t 

 

2

 

(2.36)

� n

2
V

 i n v  -  V t n

2

 > 

 

 

� n

2
V

 i n v  - V t h  +  � V t
 

2

 

(2.37)

� p

2
V i n  -  V D D   -  V t p 

2

>

� p

2
V i n  -  V D D  -  V t p   -  � V t

2

(2.38)

� � � � � �

��	
�����
��

�
�
�
�
��
�
�

�

�
���µ

���µ

���µ

���µ

���µ

��

�

�

�

�

�

� � � � � �

�������������	

�
�
�
�
�
�

�
�
�
�
���
�
	

�

�

(a) (b)
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��
�������)*+,-�

��,
��
��./��)*01� !"�#$%������23�
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1A 

 

 

3.1��������	 

����I"���de 10 4f1AB���)e�Fgf�������,��

����� J�1KL�M:�6789:6=>5�DEde 11�h1A 

2.2 ��� KL�M:�NOP4�\]�?g4�NOP-i��6879:6

=>�jkl�m�h1 10G[Hz] �4n�[��-jo�%� 1[ps]�h1���x �

%-2FGpq)knrf1AF@,�B�C�st)I�14NOP�- Qall- x )

u\vc1B4)f1Aw��x-��)\vc1���NOyG�h1fCz Qall

-��)u\vc1-{�h1A 
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e 11�6879:6=>DE�|14�}l~��.���nd –1�hG��  

��/T d���4n�l~���)F1#$!"���-l~d 10 �)f14�!

"- 1/100 4f@,+1AB�B4qC[��d 10 �)f14� !"d 1/10 )f1

4+gB4d�q1AB�CqC�Qall-NOPyG��)u\v5,+1B4d�q

1AB�DEqC�NOPd�5+4+gB4d��J��A 

 

 

 

 

 

 

 

 

 

 

 

 

����� ���� ���

�����
�
�
�
�
�
�
�
	



�
�



�������

������

������

������

�����

�����

�����

�m

���µ

��µ

�µ

���n

��n

���p

���� �����	
��

������	

�n
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3.2��������	
��
 

���I"��-e 12 4fG�B����������� !"�NOP-��

���- 

� 4f1B4qC�� !"�#$%- 

4f1ABB��U>�:;�I"����-e2FG 80[fF]�h1�� 

� #$!"� 3.16�10-24f2 [W] 

4fG�6789:6=>4NO%�\]5�[�de 134f1A 

B��|14�6789:6=>�DE-��NO%4��%��5,+1B4d�

q1A 

p

i( t ) = �  C V cos (�  t )

 
( t ) = r ( �  C V )2 cos2 (�  t )

 (3.1)

(3.2)

T

1 T

0

p ( t )  d t  =  
r �2  C2 V2

2
(3.3)
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3.3��������	
��
 

  


��
�����!"^_��de 14 )f1ABB���1
��
��U>

�V;>���%-��l�m f4U>�:;�I"����% CqC� �  

4��1B4d�n1AI"U>�:�>��l�m��eFG��%���[

1B4d�n1d�B�U>�:�>�-� �¡¢�£¤�+1!¥�W¦%

qC���[��h1���STUV�djk§)?��1��¨qC-©ª�
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